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«Salve problems related to how chargeisconserved
- Show that charges are quantied As mentioned in the book 3,486

«Solve problems related o how chargeis quantized
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Describe how to charging of an object
Demanstrate knowledge of charging objects and the
propertiesof electrostatic charge and differentiate

between conductors and nsulators

As mentioned in the book 839
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Salve problems involving general charge disribution and the electrc field

Develop a taol, sketches, deseriptive tawt ar presentation to As mentioned inthe bock B, 14X
show the marghalogy of electric fied ines of a single or 34,3583
multipl charge system with positive andor negative [}

MULTIPLE-CHOICE QUESTIONS 2.5

tharges
Find for a uniform distribution of charge, the fnear charge density X for chargealang a fin, the surface charge density o for charge an a surface, and the volume
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As mentianed in the book

Find far a uniform distributian of charge, the finear charge density X for chargealang a line, the surface charge density o for charge an a surface, and the volume 33583
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Solve problems on electric flux
Define the electric flux through a surface as the dot
product between the electric field vector and the area
vector at each point of that surface and expresses that in
an equation

FIGURE2.22

FIGURE2.23 “
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A = (1,0,4) aswanq E = (2.0,4.0,8.0) opado y anquubmenyhaigyiniiyy aiéasainagl| /v

Apply the relationship between the charge density and the electri field
9 magnitude E and also specify the diection of the field for points near a flat thin, As mentioned in the baok 47,4884
infinite or arge, noncanducting/conducting surface with a uniform charge density
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As mentioned in the book
] Solue problemsinvolving lectric potential ener 60&61
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U Develop a method such as schematic representations to compare the equipotential surfaces due to a point charge, two identical charges, FIGURE3.17 67 68869
and two different charges FIGURE3.18 '
FIGURE 3.19
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Relate the component of the electric field along a certain direction Es to the
12 change in the electric potential along that direction (Es =-dV/ds) and use this relation Concept Check 3.7 7
10 solve problems
— 2 2 P - & \¢
V=32x"+2xy—4yz+2y“z amallislaiildphiuie Ylio| *%*

x=2 y=3 z=4
—(6.4x+2y—0+0)=—(12.84+6—-0+0) = —18.8
—(2x—4z+4yz) = —(4—-16+48) = -36
—(—4y+2y>)=—(-12+18) = -6
E=(-18.8,-36,-6)
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Calculate the potential energy of a system of pair of charged particles

FIGURE 3.30
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